
 8 - 3/8" x 4" Bolts
16 - Curved Washers
 8 - Locknuts

1 - Back Pad
2 - 3/8" x 2" Bolts
2 - Flat Washers

2 - Arm Pads
4 - 3/8" x 2" Bolts
4 - Flat Washers

4 - 3/8" x 2 1/2" Bolts
8 - Flat Washers
4 - Locknuts

VER
TIC

A
L K

N
EE R

A
ISE


	Sheet1
	Drawing View9


